Mounting an A Part on a panel

-AAZL

Display Systems

8
2 3
Ee
22
) \
25
g A Part
53
< X
‘ | \
) \
/QW
M4 x §11 \
Washer
M4 Bolt (optional) M4 Hex Nut
—— M4 x @8 Lock Washer

Recommended Fastening System

Bolt Dimensions
Button Head Bolt Thread Overall
Thread Diameter Length Length
M4 7mm 10mm
.156" .281" 375"

Add panel thickness to bolt lengths above

®E=0)| 0l ol

Washer Lock Washer Hex Nut

The intellectual property in this drawing
is the property of Pizazz International Limited
40 William Pickering Drive, Auckland,
New Zealand. Copyright © Pizazz International
Limited 2011. Unauthorised use prohibited.

WWwWWw.pizazzsystems.com




»
-

Display Systems

Mounting A Parts back to back

A Part 2 & A Part
©
c
©
\ Q. )
©
c
.0
2
M4 Bolt © M4 Hex Nut
—— M4 x 38 Lock Washer
Bolt Dimensions Recommended Fastening System The intellectual property in this drawing
Button Head Bolt Thread Overall . : ) L
- is the property of Pizazz International Limited
Thread Diameter |  Length Length @ [:ﬂ @N @ﬂ @l 40 William Pickering Drive, Auckland,
M4,, 7mnj, 10mT New Zealand. Copyright © Pizazz International
2Ll 281 =) M4 Bolt M4 x @11 M4 x 08 M4 | Limited 2011. Unauthorised use prohibited.

Add panel thickness to bolt lengths above

Washer Lock Washer Hex Nut

WWwWWw.pizazzsystems.com




	PIZMOALUM-L_Tech
	PIZMOALUM-L_Tech_1

